		In	Partne	ership wit	h www.unitedscrip.com				
Family Name:						ment Me	thod		
Phone:	01	Check:	Cash:						
Email: Date: / / /		Class: Team:			Make Payable to:				
	9		edSc	rip Co	ncept Orderform 201	1			
Retailer or Concepts	% Profit	Denomination		Total	Retailer or Concepts	% Profit	Denomination	Qty	Total
1-800-Flowers.com	25%	\$20	Quy	rotar	Boston Market	12%	\$10	Quy	Tota
A.J. Wright	7%	\$25			Boston Store	9%	\$25		
Academy Sports and Outdoors	4%	\$25			Bountyland Quickstop (SC	4%	\$10		
Acapulco Mex Rest/Cantina	9%	\$25			BP/Amoco Gas Stations	1.5%	\$50/\$100		
Ace Hardware	4%	\$25/\$100			Brenner's Steakhouse	8%	\$20		
ACME Advanced Auto Parts	4% 7%	\$50/\$100 \$25			Brentano's Brooks Bothers Country Club	8% 14%	\$10 \$25		
Aéropostale	8%	\$25			Brooks Brothers	14%	\$25		
Afterthoughts	9%	\$10			Bruegger's Bagels	5%	\$10		
Albertson's	4%	\$50/\$100			Brunswick Zone	12%	\$10		
Allposters.com	8%	\$25			Bruster's Ice Cream	8%	\$5		
Amazon.com	5% 7%	\$25/\$50 \$25			Buca di Beppo Build A Boar Workshop	8%	\$25 \$10/\$25		-
AMC Theatres/Loew's AMC/Lowe's Single Use	7% 6.25%	\$25 \$9.50			Build-A-Bear Workshop Burger King	8% 4%	\$10/\$25 \$10		-
American Eagle Outfitters	8%	\$25			Cabela's	4 %	\$10		
American Girl	12%	\$25			Cadillac Bar	8%	\$20		
Amoco (BP)	2%	\$50/\$100			California Pizza Kitchen	4%	\$25		
A-Plus Convenience Store	1.5%	\$50/\$100			Cambria Suites	4%	\$100		
Applebee's	8%	\$10/\$25			Captain Crabs Take-away	8%	\$20		
Aquarium Seafood Arby's National	8% 8%	\$20 \$10			Carl's Jr Carlton Hair International	8% 9%	\$5 \$25		
Arco Gas Stations	1.5%	\$50/\$100			Carnival Cruise(for	3 % 8%	\$100		
Art.com	8%	\$25			Carrabba's Italian Grill	5%	\$25		
Athleta.com	9%	\$25			Carrow's Restaurant	8%	\$10		
Athletic X-press	9%	\$25			Carrs	4%	\$25/\$100		
B. Dalton Books	9% 3%	\$10/\$25 \$25			Carson Pirie Scott	9% 9%	\$25 \$25		
Babbage's Babies-R-Us	1.5%	\$25 \$10/\$25			Casa Gallardo Cascading Gift Card Holder	9% 30%	\$2.50		
Babin's Seafood House	8%	\$20			Catherine's	7%	\$25		
Bahama Breeze	9%	\$10/\$25			Cattle Company	11%	\$25		
Baja Fresh	7%	\$10			Central Market	2%	\$25/\$100		
Banana Republic	9%	\$25			Century Theatres	8%	\$8		
Barnes & Noble Bookstores Baskin Robbins	9% 8%	\$5/\$10/\$25 \$2			Champs Sports Store Charlesbank	9% 9%	\$25 \$10/\$25		
Bass Pro Shops	8%	\$25			Charley's Crab	9 % 8%	\$20		
Bath & Body Works	13%	\$10/\$25			Chart House	8%	\$20		
Beauty Bar / Best Cuts	9%	\$25			Cheeseburger in Paradise	5%	\$25		
Beauty Express	9%	\$25			Cheesecake Factory	3%	\$25		
Bed, Bath & Beyond	6%	\$25			Chevey's Fresh Mex	9%	\$25		
Belk's Department Store	10% 9%	\$25/\$100 \$25			Chevron Gas Chili's	1.5% 10%	\$50/\$100/\$250 \$10/\$25		
Bergner's Bertucci's	9% 10%	\$25 \$25			Chins Chipotle	10%	\$10/\$25		-
Best Buy	2%	\$25/\$100			Choice Hotels	4%	\$100		1
Bealls (Not in FL., GA, AR.)	8%	\$25			Chophouse & Brewery	6%	\$25		
Big Fish	8%	\$20			Christ Centered Book & Music	10%	\$10		
Black Angus/Cattle Company	11%	\$25			Chuck E. Cheese	8%	\$10		
Blockbuster Gift Card Blockbuster Single Game Rental	8% 27%	\$10 \$7			Cinemark \$8 Supersaver Ticket	10% 7%	\$8 \$25		-
Blockbuster Single Game Rental Blockbuster Single Movie Rental	27% 15%	\$7 \$4			Cineplex Odeon Claim Jumper	7% 8%	\$25 \$25		-
Bloomingdales	7%	\$25			Claire's	9%	\$10		1
Blue Coral Seafood & Spirits	5%	\$25			Clarion	4%	\$100		
Bob Evans	12%	\$20			Coconuts	6%	\$25		
Bob's Stores	9%	\$25			CoCo's Restaurant Bakery	15%	\$10 \$10		
Bonefish Grill Bon-Ton	5% 9%	\$25 \$25			Cold Stone Creamery Comfort Inn	8% 4%	\$10 \$100		-
Books-A-Million	9% 8%	\$25 \$15			Comfort Inn Comfort Suites	4% 4%	\$100		-
Bookstar/Bookstop	9%	\$10/\$25			Copper River	8%	\$25		1
Borders	9%	\$10			Country Buffet	8%	\$25		
BoRics	9%	\$25			Courtyard	9%	\$50/\$100		
	e 1 Col	umn A TOTAL:	\$			Page 1 C	olumn B TOTAL:	\$	

Retailer or Concepts	% Profit	Denomination	Qty	Total	Retailer or Concepts	% Profit	Denomination	Qty	Total
Crab House, The	8%	\$25			Genuardis	4%	\$25/\$100		
Cracker Barrel	9%	\$10/\$25			GetGo Gas Stations	4%	\$50		
Crate and Barrel	4%	\$20			GFS MarketPlace (Gordon	3%	\$25/\$100		
Crosstown Traders	7%	\$25			GiantEagle/GiantEagleExpress	4%	\$50		
CVS Pharmacy	4%	\$25/\$100			Giant Eagle Market District	4%	\$50		
Dale Earnhardt, Jr. NASCAR	9%	\$25			Giant Foods	4%	\$25/\$50/\$100		
D'Angleo's/Papa Gino's	7%	\$10			Goody's	8%	\$25		
Dave & Buster's	14%	\$25			Golden Corral	3%	\$25		
Del Taco	4%	\$10			Goodrich Quality Theaters	4%	\$10		
Denny's	7%	\$10			Gordman's	7%	\$25		
Dick's Sporting Goods	5%	\$25			Great Harvest Bread Co	8%	\$10		
Dillard's	9%	\$25			Great Indoors	4%	\$25/\$100/\$250		
Disney Cruise Lines	2%	\$25/\$100			Grotto's	8%	\$20		
Disney Cruise Lines (SpecialOrder)	2%	\$500/\$1000			GuadalaHARRY'S	10%	\$25		
Disney Gift Cards	2%	\$500/\$1000			Guitar Center	5%	\$25		
Disney Gift Cards (SpecialOrder)	2%	\$25/\$100			Gymboree	13%	\$25		
Disney Stores	2%	\$25/\$100			Hair by Stewarts	9%	\$25		
Disney Stores(SpecialOrder)	2%	\$500/\$1000			Hair Plus	9%	\$25		
Disneyland/Disneyworld	2%	\$25/\$100			HairMasters	9%	\$25		
Disneyland/World(SpecialOrder)	2%	\$500/\$1000			Hallmark \$25	4%	25		
Dominick's	4%	\$25/\$100			Hard Rock Cafe	8%	\$25 \$10		
Domino's	8% 9%	\$10 \$10/\$25			Hardee's	9% 8%	\$10 \$25		
Doubleday Bookstores	9% 8%	\$10/\$25 \$20			Harlow's Food & Fun Harry and David		\$25 \$25		
Downtown Aquarium Dream Dinners	8% 8%	\$20 \$75				11% 3%	\$25 \$25/\$50/\$100		
Dream Dinners Dunkin Donuts	8% 4%	\$75 \$10			HD Landscape Supply HD Landscape Supply	3%	\$25/\$50/\$100		
Eagle Hardware	4%	\$25/\$50/\$100			Head Start Hair Care	3% 9%	\$1000/\$5000		
EB Games	3%	\$25			H-E-B	2%	\$25/\$100		
EBX	3%	\$25			Henry's Farmer's Market	3%	\$25/\$50/\$100		
Eddie Bauer	7%	\$25			Herberger's	9%	\$25		
Edwards Theater	8%	\$10			Hold Everything	8%	\$25		
El Paso Cantina	9%	\$25			Holiday Hair	9%	\$25		
El Pollo Loco	7%	\$10			Hollywood Video	16%	\$25		
El Torito Grill	9%	\$25			Home Depot	3%	\$25/\$50/\$100		
El Torito/Acapulco	9%	\$25			Home Depot	3%	\$1000/\$5000		
Elder-Beerman	9%	\$25			HomeGoods	7%	\$25		
Electronics Boutique	3%	\$25			Hometown Buffet	8%	\$25		
Express	12%	\$20			Honey Baked Ham	15%	\$25		
Express for Men	12%	\$20			Hoyts Cinemas	8%	\$10		
Exxon	1.5%	\$50/\$100			Hyatt Hotels	9%	\$25		
F.Y.E.	6%	\$25			Hyatt Place	9%	\$25		
Fairfield Inn (Marriott)	9%	\$50/\$100			Hyatt Summerfield Suites	9%	\$25		
Family Christian Stores	9%	\$25			lcing	9%	\$10		
Famous Hair	9%	\$25			Ink	9%	\$10/\$25		
Fannie May	25%	\$20			Islands Restaurant	8%	\$25		
Fashion Bug	7%	\$25			iTunes	4.5%	\$15/\$25		
Fatz Cafe	12%	\$10/\$25			J Jill	9%	\$25		
Fiesta Salons	9%	\$25			Jack in the Box	4%	\$10		
Finishline	11%	\$25			JCPenney	5%	\$25/\$100		
Fire Mountain	8%	\$25			Jean Louis David	9%	\$25		
First Choice Haircutters	9%	\$25			Jeff Gordon NASCAR	9%	\$25		
Fish Tales	8%	\$20			Jewel	4%	\$50/\$100		
Fisherman's Wharf	8%	\$20			Jewel-Osco Stores	4%	\$50/\$100		
Fleming's	5%	\$25			Jiffy Lube	9%	\$25		
Flying Dutchman, The	8%	\$20			Jimmie Johnson NASCAR	9%	\$25		
Foot Locker	9%	\$25			Jo Ann Fabrics	6%	\$20		
FootAction	9%	\$25			Kasey Kahne NASCAR	9%	\$25		
Friendly's	7%	\$25			Kemah Boardwalk	8%	\$20		
Friends 2B Made	8%	\$25			Keystone Grill	9%	\$25		
Funcoland	3%	\$25			KFC	9%	\$5		
Fuzio Universal Pasta	9%	\$25			Kid's FootLocker	9%	\$25		
Game Crazy	16%	\$25			Kids-R-Us	1.5%	\$10/\$25		
GameStop	3%	\$25			King's Cleaners (SC ONLY)	8%	\$5		
Gap Tri-Card	9%	\$25			Kmart	4%	\$25		
GapKids	9% 8%	\$25 \$25			Kohl's	4% 4%	\$25/\$100 \$50		
Gart Sports	0 /0	φ20			Kwik Trip	4 /0	400		
Pag	je 2 Col	umn A TOTAL:	\$			Page 2 C	olumn B TOTAL:	\$	

Retailer or Concepts	% Profit	Denomination	Qty	Total	Retailer or Concepts	% Profit	Denomination	Qty	Total
L.L. Bean	18%	\$25			Omaha Steaks Collections	15%	\$40/\$60/\$85/\$115		
La Griglia (Landry's)	8%	\$20			On The Border	11%	\$10/\$25		
Lady FootLocker	9%	\$25			Orchard Supply Hardware	4%	\$25/\$100/\$250		
Landry's Gift Card	8%	\$20			Orvis	15%	\$25		
Landry's Seafood House	8%	\$20 \$20			Osco Drug Store	4%	\$50		
Lands' End	14%	\$20 \$25			Oshman's	4 % 8%	\$25		
Lane Bryant					Outback Steakhouse				
Lee Roy Selmon's	7%	\$25			Outdoor World	5%	\$25		
Loews Cineplex Entertainment	5%	\$25			OutLooks for Hair	8%	\$25		
Logan's Roadhouse	7%	\$25			Overstock.com	9%	\$25		
Long John Silver's	8%	\$25			Owen's Family Restaurant	9%	\$25		
	9%	\$5			-	12%	\$20		
Longaberger Baskets (SUE	10%	\$25			P.F. Chang's China Bistro	7%	\$25		
Longhorn Steakhouse	9%	\$10/\$25			Paesano's (SC ONLY)	8%	\$10		
Longs Drugs	5%	\$25/\$100			Pak n' Save Foods	4%	\$25/\$100		
Lord & Taylor	8%	\$25			Palais Royal	8%	\$25		
Lowe's Home Improvement	4%	\$25/\$50/\$100			Pancho's Mexican Restaurants	9%	\$25		
Lowe's Home Improvement	4%	Up to \$5000			Panera Bread	9%	\$10		
Macaroni Grill	11%	\$10/\$25			Panopoulos Hair Salons	9%	\$25		
Macy's	10%	\$25/\$100			Papa Gino's	7%	\$10		
Maggiano's Little Italy	11%	\$10/\$25			Papa John's	8%	\$10		
Magic Johnson Theatre	7%	\$25			Parisians Store	9%	\$25		
Mainstay Suites	4%	\$100			Pavilions (Safeway)	4%	\$25/\$100		
МАРСО	2.5%	\$50			Payless Shoes	13%	\$10		
Marathon	3%	\$25/\$100			PBTeen	8%	\$25		
Marie Callender's	13%	\$25			Peebles	8%	\$25		
Marriott Hotels	9%	\$50/\$100			Pei Wei Asian Diner	7%	\$25		
Marshalls	7%	\$25			Peohe's	8%	\$20		
MasterCuts		\$25 \$25			Pesce		\$20		
Max & Erma's	9%				PetSmart	8%	·		
McRae's	13%	\$10 \$25			Piccadilly Pub	4%	\$25		
Menards	10%				Pier 1 Imports	8%	\$25		
Men's Wearhouse	3%	\$25			Piggly Wiggly	9%	\$25		
Mia & Maxx Hair Studio	7%	\$25			Piperlime.com	5.5%	\$50/\$100		
Michael's	9%	\$25			Pizza Hut	9.0%	\$25		
	4%	\$25			Planet Music	8%	\$10		
Mimi's Cafe	8%	\$10/\$25				6%	\$25		
Mitchell's Hair Styling	9%	\$25			Planet X	3%	\$25		
Mobil (Exxon)	1.5%	\$50/\$100			Plow & Hearth	25	20		
Modell's Sporting Goods	7%	\$25			Pottery Barn	8%	\$25		
Movie Gallery	16%	\$25			Pottery Barn for Kids	8%	\$25		
Muer Seafood Restaurants	8%	\$20			Proffitt's	10%	\$25		
Murphy USA (Walmart Gas)	2%	\$25/\$100/\$250			Qdoba Mexican Grill	7%	\$25		
Nike Factory Stores	8%	\$50			Quality Inn	4%	\$100		
Nike Women Stores	8%	\$50			Quizno's	10.5%	\$10		
NIKETOWN	8%	\$50			Racine Danish Kringle	15%	\$25		
Ninety Nine	13%	\$25			Rainforest Cafe	8%	\$20		
Noodles Restaurants	4%	\$25			Randall's	4%	\$25/\$100		
O'Charley's	13%	\$10/\$25			Real Mex	9%	\$25		
Office Depot	3%	\$25			Red Lobster	9%	\$10/\$25		
Office Max	4%	\$25			Red Robin	7%	\$10		
Old Chicago	6%	\$25			Regal Entertainment	8%	\$10		
Old Country Buffet	8%	\$25			Regis Salons	9%	\$25		
Old Navy	9%	\$25			Regis Signature Salon	9%	\$25		
Olive Garden	9%	\$10/\$25			REI Stores	8%	\$25		
Omaha Steaks	9% 10%	\$10/\$25			Renaissance	8%	\$50/\$100		
Paç	je 3 Col	umn A TOTAL:	\$			Page 3 C	olumn B TOTAL:	\$	

Retailer or Concepts	% Profit	Denomination	Qty	Total	Retailer or Concepts	% Profit	Denomination	Qty	Total
Residence Inn	9%	\$50/\$100			Staples	5%	\$25/\$100		
Restaurants.com	50	\$20			Star Market (in MA)	4%	\$50/\$100		
Rich Gas	4%	\$50/\$100			Star Theaters	7%	\$25		
Rock Bottom Restaurants	6%	\$25			StarTheaters/ AMC/Loew's Single U	6.25%	\$9.50		
Rocky Mountain Chocolate	12%	\$10			Starbucks	7%	\$5/\$10/\$25		
ROSS Dress For Less	9%	\$25			Stater Brother's Markets	5%	\$25/\$100		
Roy's	5%	\$25			Steak n Shake	8%	\$10		
Ruby Tuesday's	8%	\$10/\$25			Stoney River	12%	\$25		
Russell Stover & Whitman's	9%	\$10			Stop & Shop	4%	\$25/\$50/\$100		
Rusty Duck, The	8%	\$20			Strawberries	6%	\$25		
Rxpress	2%	\$25/\$100			Structure	12%	\$20		
Ryan's	8%	\$25			Stuart Anderson's	11%	\$25		
Safeway	4%	\$25/\$100			Style America	9%	\$25		
Saint Louis Bread Co.	9%	\$10			Subway	3%	\$10		
Sally Beauty	14%	\$25			Sun Coast	6%	\$25		
Saltgrass Steakhouse	8%	\$20			Sunglass Hut	9%	\$25		
Sam Goody	6%	\$25			Sunoco	1.5%	\$50/\$100		
Sam's Club	2%	\$25/\$100			Super America	4%	\$50/\$100		
Saturday Matinee	6%	\$25	_		Super G	4%	\$25/\$50/\$100		
Saturday's	9%	\$25			Sweet Bay (FLORIDA ONLY)	3%	\$50		
SaveRite Grocery Warehouse	4%	\$50			Sweet Tomatoes/Souplantation	8%	\$25		
Sav-on Drug	4%	\$50/\$100			T.J. Maxx	7%	\$25		
Scribner's	4% 9%				Talbots	9%	\$25		
Sears		\$10/\$25			Tanger Outlet Stores				
Sears Auto Service Center	4%	\$25 - \$500			Texas Roadhouse	9%	\$25		
Seasons 52	4%	\$25 - \$500			TGF Hair Salon	8%	\$10		
See's Candies 1 LB	9%	\$10/\$25			TGI Friday's	9%	\$25		
	25%	\$15			The Capital Grille	9%	\$10/\$25		
Sephora Shaw's Supermarkets	5%	\$25			The Children's Place	9%	\$10/\$25		
· ·	4%	\$50/\$100			The Container Store	9%	\$25		
Sheetz Gasoline Shell Gas (SPECIAL 1%	3%	\$50				9%	\$25		
Shoe Carnival	2.5%	25\$/\$50/\$100			The Flying Dutchman	8%	\$20		
	4%	\$25			The Great Indoors	4%	\$25/\$100/\$250		
ShopKo	4%	\$25			Three Four Six '346' Brook	14%	\$25		
ShopRite	4%	\$25			Tom Thumb	4%	\$25/\$100		
Showcase/Showplace Cinema	7%	\$25			Tony Stewart NASCAR	9%	\$25		
Showcase/Showplace Cinema	6.25%	\$9.50			TOPS	4%	\$25/\$50/\$100		
Shutterfly	9%	\$25			Tower of the Americas	8%	\$20		
Simms Landing	8%	\$20			Towne Place Suites	9%	\$50/\$100		
Sing Sing Dueling Pianos	6%	\$25			Toys-R-Us	1.5%	\$10/\$25		
Sleep Inn	4%	\$100			Trade Secret	9%	\$25		
Smart & Final	3%	\$25/\$50/\$100			T-Rex	8%	\$20		
SmartStyle	9%	\$25			Tri-City Cleaners (SC ONLY)	8%	\$5		
Software Etc.	3%	\$25			Tully's Coffee	9%	\$10		
SonyTheatres/SonyImaxTheatre	7%	\$25			Ulta Salon, Cosmetics &	4%	\$25		
Souplantation	9%	\$10			Ultra Service Center	1.5%	\$50/\$100		
Spec's	6%	\$25			United Artist Theater	8%	\$10		
Speedway Gas	4%	\$50/\$100			Vic & Anthony's Steakhouse	8%	\$20		
Sportmart	8%	\$25			VIP Quality Cleaners (SC	8%	\$5		
Sports Authority	8%	\$25			VONS	4%	\$25/\$100		
Spring Hill Suites	9%	\$50/\$100			Waldenbooks	8%	\$10/\$25		
St. Louis Bread Company	9%	\$10			Walgreen's	2%	\$25/\$100		
Stage Stores	8%	\$25			Walmart	2%	\$25/\$100		
Pag	je 4 Col	umn A TOTAL:	\$			Page 4 C	olumn B TOTAL:	\$	

Retailer or Concepts	% Profit	Denomination	Qty	Total	Retailer or Concepts	% Profit	Denomination	Qty	Total
walmart.com	2%	\$25/\$100			Williams-Sonoma Home	8%	\$25		
Walnut Brewery	6%	\$25			Willie G's	8%	\$20		
Walt Disney World FL. (Special	2%	\$500/\$1000			Wilson's Meat Markets	6%	\$10		
Walt Disney World Resort Fla.	2%	\$25/\$100			Winn Dixie	4%	\$50		
Watch Station	9%	\$25			World Wide Sportsman	8%	\$25		
Wendy's	4%	\$10			www.disney.com	2%	\$25/\$100		
West Elm	8%	\$25			www.disney.com	2%	\$500/\$1000		
WetGo Car Wash	4%	\$50			www.disney.com	2%	\$25/\$100		
Where House Music	6%	\$25			www.disneyshopping.com	2%	\$500/\$1000		
White Barn Candle Co.	13%	\$10/\$25			www.nike.com	8%	\$25		
Whitman's Candies	9%	\$10			Yankee Candle	8%	\$25		
WhoSong&Larry's	9%	\$25			Yard House	7%	\$25		
Williams-Sonoma	8%	\$25			Younkers	9%	\$25		
Pa	ge 5 Col	umn A TOTAL:	\$			Page 5 C	olumn B TOTAL:	\$	
Т	OTAL Pa	ige 3 Column A:	\$			TOTAL I	Page 4 Column B:	\$	
Т	OTAL Pa	ige 3 Column A:	\$			TOTAL I	Page 3 Column B:	\$	
		ige 2 Column A:				TOTAL I	Page 2 Column B:	\$	
T	OTAL Pa	ige 1 Column A:	\$			TOTAL I	Page 1 Column B:	\$	
			(	GRA	ND TOTAL (ALL Columns a	nd Pages):	\$		
We can not be respor	sible for l	ost or stolen certifi	icates.	Please s	ign below in the appropriate box to inc	dicate your pr	eference for delivery.		
Send Home with Child:					Pick Up in Office:				